
偏微分方程式 

 

① 
𝜕𝑢(𝑥,𝑦)

𝜕𝑥
= 0 

𝑥  に関する偏微分が 0。 

は𝑥  によらない𝑦だけの関数。 

（答え）𝑢(𝑥, 𝑦)=∅(𝑦  ) 

② 
𝜕2(𝑥,𝑦)

𝜕𝑥𝜕𝑦
= 0 

𝜕

𝜕𝑥
(

𝜕𝑢

𝜕𝑦
) = 0 

𝜕𝑢

𝜕𝑦
= ∅𝑎(𝑦) 

𝜕𝑢

𝜕𝑦
− ∅𝑎(𝑦) = 0 

𝜕𝑢

𝜕𝑦
−

𝜕

𝜕𝑦
{∫ ∅𝑎(𝑦)𝑑𝑦} = 0 

𝜕

𝜕𝑦
{𝑢 − ∫ ∅𝑎(𝑦)𝑑𝑦} = 0 

𝑢 = 𝜑(𝑥) + ∫ ∅𝑎(𝑦)𝑑𝑦 

＝𝜑(𝑥) + ∅(𝑦) 

③ 
𝜕𝑢

𝜕𝑥 
＝

𝜕𝑢

𝜕𝑦
 

{
𝛼 = 𝑥 + 𝑦
𝛽 = 𝑥 − 𝑦

 

𝜕𝑢

𝜕𝑥
=

𝜕𝑢

𝜕𝛼

𝜕𝛼

𝜕𝑥
+

𝜕𝑢

𝜕𝛽

𝜕𝛽

𝜕𝑥
=

𝜕𝑢

𝜕𝛼
+

𝜕𝑢

𝜕𝛽
(

𝜕𝛼

𝜕𝑥
= 1,

𝜕𝛽

𝜕𝑥
= 1) 

𝜕𝑢

𝜕𝑦
=

𝜕𝑢

𝜕𝛼

𝜕𝛼

𝜕𝑦
+

𝜕𝑢

𝜕𝛽

𝜕𝛽

𝜕𝑦
=

𝜕𝑢

𝜕𝛼
−

𝜕𝑢

𝜕𝛽
 

 

 

 



∴
𝜕𝑢(𝛼, 𝛽)

𝜕𝛽
= 0 

𝑢 = ∅(𝛼) 

=∅(𝑥 + 𝑦) 

④ 
𝜕2𝑢

𝜕𝑥2 = 0 

𝜕

𝜕𝑥
(

𝜕𝑢

𝜕𝑥
) = 0 

𝜕𝑢

𝜕𝑥
= ∅(𝑦) 

𝜕𝑢

𝜕𝑥
{−

𝜕

𝜕𝑥
∫ ∅ (𝑦)𝑑𝑥} = 0 

𝜕

𝜕𝑥
{𝑢 − ∫ ∅ (𝑦)𝑑𝑥} = 0 

𝑢 − 𝑢 − ∫ ∅ (𝑦)𝑑𝑥 = 𝜑(𝑦) 

𝑢 = 𝜑(𝑦) + ∫ ∅ (𝑦)𝑑𝑥

= 𝜑(𝑦) + 𝑥∅(𝑦)

 

 

⑤ １次元波動方程式
𝜕2𝑢(𝑥,𝑡)

𝜕𝑡2 = 𝑐2 𝜕2𝑢(𝑥,𝑡)

𝜕𝑥2  

変数変換 

{
𝛼 = 𝑥 − 𝑐𝑡
𝛽 = 𝑥 + 𝑐𝑡 

𝜕𝑢

𝜕𝑥
=

𝜕𝑢

𝜕𝛼

𝜕𝛼

𝜕𝑥
+

𝜕𝑢

𝜕𝛽

𝜕𝛽

𝜕𝑥
 

=
𝜕𝑢

𝜕𝛼
+

𝜕𝑢

𝜕𝛽
 

𝜕2𝑢

𝜕𝑥2
=

𝜕

𝜕𝛼
(

𝜕𝑢

𝜕𝛼
+

𝜕𝑢

𝜕𝛽
)

𝜕𝛼

𝜕𝑥
+

𝜕

𝜕𝛽
(

𝜕𝑢

𝜕𝛼
+

𝜕𝑢

𝜕𝛽
)

𝜕𝛽

𝜕𝑥
 

=
𝜕2𝑢

𝜕𝛼2
+

𝜕2𝑢

𝜕𝛼𝜕𝛽 
+

𝜕2𝑢

𝜕𝛽2
 

𝜕𝑢

𝜕𝑡
=

𝜕𝛼

𝜕𝑡
+

𝜕𝑢

𝜕𝛽

𝜕𝛽

𝜕𝑡
= −𝑐 (

𝜕𝑢

𝜕𝛼
−

𝜕𝑢

𝜕𝛽
) 

𝜕2𝑢

𝜕𝑡2
=

𝜕

𝜕𝛼
{−𝑐 (

𝜕𝑢

𝜕𝛼
−

𝜕𝑢

𝜕𝛽
)}

𝜕𝛼

𝜕𝑡
+

𝜕

𝜕𝛽
{−c (

𝜕𝑢

𝜕𝛼
−

𝜕𝑢

𝜕𝛽
)}

𝜕𝛽

𝜕𝑡
 



＝𝑐2 (
𝜕2𝑢

𝜕𝛼2 − 2
𝜕2𝑢

𝜕𝛼𝜕𝛽 +
𝜕2𝑢

𝜕𝛽2) 

𝜕2𝑢

𝜕𝛼𝜕𝛽 =0 

 

 ②と同じ 

𝑢(𝛼, 𝛽) = 𝜑(𝛼) + ∅(𝛽) 

= 𝜑(𝑥 − 𝑐𝑡) + ∅(𝑥 + 𝑐𝑡) 

 


